I é !) Moltiplica i decimali per potenze di dieci

Nome: Data: Punteggio:
2,74 x 1000 = 8,3 x 1000 =
5,969 x 10000 = 6,091 x 1000000 =
10, 708 x 1000 = 7, 806 x 10000 =
3,567 x 10000 = 4, 175 x 100000 =
10, 169 x 1000 = 1,239 x 10 =
1,227 x 1000 = 2,779 x 100000 =
7,029 x 100 = 1,197 x 10 =
2,21 x 10 = 7,212 x 100 =
3,854 x 100 = 5,285 x 100 =
7,731 x 1000 = 1,021 x 100 =
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I é a) Moltiplica i decimali per potenze di dieci

Nome: Data: Punteggio:
2,74 x 1000 = 2740 8,3 x 1000 = 8300
5,969 x 10000 = 59690 6,091 x 1000000 = 6091000
10, 708 x 1000 = 10708 7, 806 x 10000 = 78060
3,567 x 10000 = 35670 4,175 x 100000 = 417500
10, 169 x 1000 = 10169 1,239 x 10 =12.39
1,227 x 1000 = 1227 2,779 x 100000 = 279000
7,029 x 100 = 702.9 1,197 x 10 = 11.97
2,21 x10=22.1 7,212 x 100 =721.2
3,854 x 100 = 3854 5,285 x 100 = 528.5
7,731 x 1000 = 7731 1,021 x 100 = 102.1

www.snowmath.com


https://www.snowmath.com

